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Roll No. 

NOTE 

(I) 

7 

(I) Please check that this question paper
contains 7 printed pages.

(II) (II) Q.P. Code given on the right hand 
side of the question paper should be 
written on the title page of the 
answer-book by the candidate. 

(III) 

14 

(III) Please check that this question paper
contains 14 questions.

(IV) (IV) Please write down the serial 
number of the question in the 
answer-book before attempting it. 

(V) 15 

10.15 10.15 
10.30 

(V) 15 minute time has been allotted to
read this question paper. The
question paper  will  be  distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will read the
question paper only and will not
write any answer on the answer-book
during this period.
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:

(i) 14 

(ii)

(iii) 6 1 W~ 6 2 

(iv) 4 7 W~ 10 3 

(v) 4 11 W~ 14 4 

(vi)

I¥T H 

1 6 2 

1. (a) x Yy dBr Y}KpWr g`rHcV x2  2ax  (4b2  a2) = 0 ²¥¾v hd Hc} & 2

Op£ 

(b) OyHc Y}KpWr g`rHcV (1 + a2) x2 + 2abx + (b2  c2) = 0 Yy v̀d
^cp^c AWy epgWqeH h²¾, Wp£ qg§Z Hc} qH b2 = c2 (1 + a2) h± & 2

2. qBH A¥HJqVqWH dmr (AP) qeM d = 5 AWy a20 = 135 h± & qBg dmr Yy
\qhdy 20 \Yp£ Yp O}m \Wp Hc} & 2

3. qYWy JBy ^pc¥̂ pcWp e¥T Yp ^htdH (mode) \Wp Hc}¾ : 2 

15  25 6 

25  35 11 

35  45 22 

45  55 23 

55  65 14 

65  75 5 
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4. (a) 7 g±.`r. qeApg Yy qBH ŷd²¾pHpc (qgd¥TcpHpc) ^cW²¾ qOg qeM HtP 

\pVr _qcAp h± qeM 1.4 g±.`r. qeApg Yy 150 J}dpHpc g¥J`c`c Yy 

RtHmy qBg Wcp£ \pBy Op£Yy h²¾ qH \vcr Wcp£ \pVr qeM Tt̂  Op£Yy h²¾ & 

^yd²¾pHpc ^cW²¾ qeM \pVr Yy gWc (level) Yr epZp \Wp Hc} & 2 

Op£ 

(b) qM§Wc 1 qeM, 6 g±.`r. _tOp epdy qW¥²¾ KVp£ ²¥¾v qM§Wc A²¾®gpc Ap\g

qeM O}m qYWp qJAp h± & qBg Wcp£ ^Vy K²¾p_ Yp Htd gWhr IyWc³d

\Wp Hc} & 2

1

5.  Yy qHg `p²¾ Yy dBr, A¥HJqVqWH dmrAp£ 9, 7, 5, ..... AWy 15, 12, 9, ..... 

Yy nez \Y ^cp^c h}VJy ? 2

6. qM§Wc 2 qeM, HzYc O epdy M§Hc E\c PQ AWy PR g\cf cyIpep£ qIMrAp£

h²¾ & OyHc  OPR = 45  h±, Wp£ qgZ Hc} qH ORPQ qBH ecJ h± & 2

2
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I¥T I

7 10 3 

7. (a) 8 g±.`r. d¥̂ p qBH cyIpI¥T AB qIM} & qBg cyIpI¥T AB E\c qBH 

q^¥Yv P qBg Wcp£ A¥qHW Hc} qH AP : PB = 1 : 5 h± & 3

Op£ 

(b) 3 g±.`r. AcZ qeApg Yp qBH M§Hc qIM} & HzYc q ¥̂Yv W~ 6 g±.`r. Yr

Yvcr E\c gqXW q^¥Yv P W~ M§Hc E\c Y} g\cf cyIpep£ PA AWy PB

Yr cM²¾p Hc} & 3

8. 20 `r. AWy 28 `r. EMpBr Yy Y} I¥q_Ap£ Yy qgIc qBH Wpc ²¾pd O}my JBy

h²¾ & g`Wd ²¾pd Wpc Yp PtHp 30  Yy H}V Wy h± & Wpc Yr d¥^pBr \Wp Hc}

AWy Y}²¾p£ I¥q_Ap£ qeMdr Yvcr \Wp Hc} & 3

9. qBH ²y¾f²¾d \pcH qeM 50 O¥Jdr Op²¾ecp£ Yy _pc (kg qeM) qcHpcT HrWy

JBy AWy hyS¾ qdIy A¥Hmy \op\W h}By :

kg 

100  110 4 

110  120 12 

120  130 23 

130  140 8 

140  150 3 

Hdq\W `§Z`p²¾ (assumed mean) qeZr cphs Op²¾ecp£ Yp `§Z`p²¾ (mean) 

_pc (kg qeM) \Wp Hc} & 3
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10. hyS¾ qYWr ^pc¥̂ pcWp e¥T W~ `pqZAH (median) \Wp Hc} : 3 

1400  1550 6 

1550  1700 13 

1700  1850 25 

1850  2000 10 

I¥T J 
11 14 4 

11. (a) qM§Wc 3 qeM, HzYc O AWy O  epdy Y} M§Hc n`epc AcZ qeApg
2r AWy r Yy h²¾, qBH Yvgcy ²¥¾v A¥Ycv²¾r cv\ qeM A E\c g\cf HcYy 
h²¾ & e§Ty M§Hc Yr qBH eWc (Orep) AB N}Ry M§Hc ²¥¾v C E\c 
q`dYr h± & YcgpG qH C, AB ²¥¾v Y} ^cp^c _pJp£ qeM e¥TYp h± & 4 

3

Op£ 
(b) qM§Wc 4 qeM, 5 g±.`r. AcZ qeApg epdy M§Hc Yp HzYc q ¥̂Yv O h± &

PA AWy BC Hc`epc q^¥Yv A AWy B E\c qIMrAp£ g\cf cyIpep£
h²¾ & OyHc OP = 13 g±.`r. h±, Wp£ g\cf cyIpep£ PA AWy BC Yr
d¥^pBr \Wp Hc} & 4 

4
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12. qBH qg§Zp cpO`pcJ qBH `r²¾pc Yy Wd WH Op£Yp h± & `r²¾pc Yy qgIc Wy

Imp qBH ApY`r qBH Hpc ²¥¾v 30  Yy ²¾repV H}V (angle of depression) Wy

YyIYp h±, O} qH `r²¾pc Yy Wd W~ ed ²¥¾v qBH} Ohr Mpd ²¾pd Ap chr h± &

10 gyqH¥T q\N~ Hpc Yp ²¾repV H}V 60  h} Op£Yp h± & qBg q^¥Yv W~ `r²¾pc Yy

Wd WH \ht¥MV qeM Hpc cphs qdAp qJAp g`p£ \Wp Hc} & 4 

\oHcV AqZA±²¾  1 

13. hyS¾ qYWy JBy qM§Wc qeM, qBH \qcepc ²y¾ Ap\Vy Kc Yy q\Nepmy qeM k`r²¾

E\c qBH ApqBWpHpc gqeq ¥̀J \vd ^VpqBAp & \vd Yy Mpc} \pgy x `r. M¡mp

gr`zR (H¥nrR) ²¾pd ^qVAp \§Hp ³tR\pX h± & ³tR\pX YrAp£ ^phcr _tOpep£

7 `r. AWy 12 `r. h²¾ & \vd Yp IyWc³d 36 ecJ `r. h± &

(a) E\c}HW gvM²¾p Yy AZpc Wy x Yy \Yp£ qeM qBH Y}KpWr g`rHcV

^VpG & 2 

(b) \vd Yy Mpc} \pgy ^Vy ³tR\pX Yr M¡mpBr \Wp Hc} & 2 
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\oHcV AqZA±²¾ 2

14. Op§²¾ ²y¾ Ap\Vr N}Rr _±R Yy dBr Ap\Vy Y}gWp£ Yy ²¾pd q`d Hy O²¾` qY²¾ Yr

\pcRr Yr a}O²¾p ^VpBr & ^qMAp£ ²y¾ W± HrWp qH O²¾` qY²¾ \pcRr YrAp£

R}\rAp£ Eh ItY ^VpVJy AWy HyH ŷHcr Yr YtHp²¾ W~ IcrYVJy & qB²¾ªp£ Y}hp£

MrOp£ Yy dBr E²¾ªp£ ²y¾ hyS¾ qdIy \y`pqBg (dimensions) q²¾fqMW HrWy :

HyH : 24 g±.`r. qeApg AWy 14 g±.`r. EMpBr Yp eydVpHpc (qgd|TcpHpc)

R}\r : f¥HvApHpc R}\r qOgYr EMpBr 24 g±.`r. AWy MHcpHpc ApZpc Yr
\qcZr 44 g±.`r. h± & 

E\c}HW gvM²¾p Yy AZpc Wy, hyS¾ qdIy \of²¾p£ Yy E¨Wc qYG :  

(a) qBg \oHpc YrAp£ 4 R}\rAp£ ^²¾pEV qeM qHW²y¾ ecJ g±.`r. HpJO

Hp³r chyJp ? 2 

(b) ^yHcr Yr YtHp²¾ Wy HyH _pc (0.5 kg, 1 kg, 1.5 kg, ApqY) Yy qhgp^

²¾pd q`dYp h± & Ap\Vr d}m A²¾®gpc ^qMAp£ ²¥¾v qHW²¾p HyH ApcTc

Hc²¾p MphrYp h±, OyHc 650 g±.`r.3 HyH 100  g HyH Yy ^cp^c h± ? 2


